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WOMEN’S STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

1. Which of the following statements is 5. Assertion (A) : Most of the women
correct about Women’s Studies as an ageing is associated with role
academic discipline ? change and the probability of
(A) It studies the social reality from coping with loss.

feminist  perspective, placing Reason (R) : Women tend to outlive
women’s experiences at the L .
centre. men in all countries and age
(B) It accepts the existing theories groups.
for analysis. (A) Both (A) and (R) are false.
(C) It covers all studies conducted (B) (A)istrue, (R) is false.
gglu\tl\ilgrrlrs],en s issues and their (C) Both (A) and (R) are true.
(D) It applies existing  social (D) (A)istalse, (R) is true.
science research methodology
for further research. 6. The term ‘Bigamy’ refers to the
2. Among the following  which crime of having
§tatement is r’lot associated with (i)  Two wives at the same time.
Androcentrism’ ? (i) Two husbands at the same
(A) Male Behaviour and Characteristics . u
are Central and are the norm. _ lime.

(B) Competitiveness and (ili) Two wives or two husbands at
aggressiveness are highly valued. the same time.

(® ChafaCtéi”SUCS assoua}eddWIth (iv) Two marriages in the life time.
men and women are valued. ; .

(D) Characteristics associated with ('é‘) (Q'ar'md ("I) are correct.
men and maleness are valued. (B) (iii) is only correct.

3. Women’s work was recognised as (C) (iv)isonly correct.
being as essential as men’s work for (D) (iii) and (iv) are correct.
which kind of society ?

(A) Tribal society (B) Rural society ‘ ,
(C) Urban society (D) Modern society 7 TAhe acl;ontygw LlithI.ESCO Eséandf_forl

4. What is correct about ‘Personal laws’ ? (A) nited INations ucationay,
(i)  Family laws are the personal laws. Scientific ~ and  Cultural
(i) These laws differ from person Organization.

tol_p(_erson according to his/her (B) United Nations Employment,
... rehgion. . Social and Cultural Organization.
(iii) Lgigfnitare gggﬁ‘é Wt'(t)h mg (C) United Nations Educational,
working)cvomen. Soc_ial and Co_alition Organiz_ation.
(lV) These are related Wlth (D) Un|ted Nations Educat'onal,
devolution and disposition of Social and Cultural Organization.
family property, maintenance
Cod and succession and inheritance. 8. Which of the following is the funding
oaes . agency for conducting research in
A 0.0 i, ) socil sciences ?
i), (ii) and (iv) only
(C) (ii), (iii) and (iv) only (A) ICAR (B) ICSSR
(D) (i), (ii) and (iii) only (C) CSIR (D) ICMR
Paper-I1 2 J-74-13
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AfEe reAaT

e — 1
o =0 U A = (50) TE-Tawed I € | U U9 A (2) S T | qet U e ¥ |

dig (TFRMED) o0 & T4 T Afgar

TG o AN T A 91 HIT Tal § ?

(A) TE Afeemel & F9al Bl H5 o
@A g ST ST
ARIeTE] TR 9 3TeqgT HT e |

(B) I& HrEr fasmii # foveiwor &
o EpR T ¢ |

(C) o ufeemsti % &l W fohd T oedt
IFT AN Ik FEHEE] H
AT AT € |

(D) T W 3R Y & ford formm
[ O oY HREW0TA!
e et i

M o
Y gtad T8 & ?

(C) Ui @ wieemsli ¥ wErud
foreTreTati =t wewa o S ¢ |

(D) ToN ¥ TEiud fowidaret o)
eI S Hewd T5aT ST ¢ |

o ToTST H Afectial & & i 3T &

A-EE A ST § o R g %

1 A ?

(A) ST @EsT (B) - WTHIOT G

(C) TRETES (D) 3TYHF THN

JaferIsh Al & IR H 1 el € ?

(i) ReTRes A SafRs® FFE ¢ |

(i) I8 FH AR % g9 & AR
i MR E

(iii) T8 FHHHSI AigesT H Her are
Tt rgfereTet @ Tt € |

(iv) o€ uaie g, TE@e 3
SIRIMHR 3R foRrge o foeRor 31X
PR STROT T T & |

(A) (1), (i), (iii), (iv)

(B) faF (i), (ii) 3R (iv)
(C) fa (ii), (iii) 3% (iv)
(D) fa (i), (ii) 3 (iii)

Latest Sarkari Jobs, Govt Exam Results,

5.

FfieRer (A) : T Afged JgTaren
TRl § S8eTd qol JHaM & a1
ST i e | STer € |

HROT (R) : T <90 3 Wt 31 =it |
ot o 3T Joul i 3TUeT SRl
AT |

(A) (A) 3R (R) I 39F & |

(B) (A)T@ T 3R (R) 3AT |

(C) (A) AR (R)IH TAE |

(D) (A) 3T E R (R)TAT |

“Ty-ferae e T ToRTy & Trated & 2

(i) UHE THT WS Il

(i) UH & QT W Hiee & 5 gfq

(iii) T T THT W YA AT &I O &

(iv) Shaee | <1 foae

&

(A) (i) 3R (i) T T |

(B) aet (iii) W & |

(C) % (iv) W& |

(D) (iii) 3 (iv) W& € |

TREUT I FAER (U LT3

1 A &

(A) TS AT TSR,
mmwmﬁm

(B) TEeE oYW UGS, WA
TUE Shoelel ATTESIH

(C) FAESE WME USHIHe], TR
TUE HISTATH ST

(D) TARCE OTE USHOAA, HrETCT
TUS ol STIESII

e 1 M )| B - B

frefatea & @ wfen wodr (e

TSI i | E 2

(A) SEHTIAR,

(B) SMEHTTTHR.

(C) ¥rud.3TE. 3R,

(D) STEHTHIR,
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10.

11.

12.

13.

Which s

research ?

(i) It aims at dealing with real
world problem at work and in
organisations.

(if) Itis change oriented.

(iii) It is more of a theoretical
nature.

(iv) Itinvolves a feed back loop for
the purpose of change.

Codes :

(A) (i) and (iii) only

(B) (i), (ii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (i), (i), (iii) and (iv)

“The incorporation of women into

commercial agriculture does not

necessarily make them socially

visible”.

Who among the following said this ?

(A) Betty Friedan (B) Vandana Shiva

(C) Agarwal (D) Baumann

Chronologically arrange the

following policy initiatives by the

Government for women.

(i) National Commission on Self-
employed Women.

(i) National ~Commission  for
Women.

(iii) The Committee on the Status of
Women in India.

(iv) National Policy on Education.

Codes :

(A) (i), (iv), (i), (ii)

(B) (i), (i), (ii), (iv)

(C) (1), (i), (ii), (iv)

(D) (i), (i), (ii), (iii)

While selecting sample, if every

element has the chance to be

selected, it is known as

(A) Cluster sample

(B) Random sample

(C) Systematic sample

(D) Convenience sample

In which type of research design,
hypothesis is not required ?

(A) Experimental (B) Descriptive
(C) Diagnostic (D) Exploratory

correct about action

Paper-I1

14. Mark out the incorrect answer about

survey method :

(A) It is useful for the study of
large population.

(B) It can be conducted from
remote locations.

(C) Itisrelatively expensive.

(D) Itisinvariably context blind.

15. Chronologically arrange the Liberal

Feminist Thinkers according to their
period of contribution :

(@) Betty Friedam

(b)  John Stuvart Mill

(c) Harriet Taylor

(d) Mary Wollstone craft
Codes :

(A)  (c), (d), (a), (b)

(B) (d), (b), (), (a)

(C) (d), (a), (d), (c)

(D) (d), (c). (a). (b)

16. Which school of Feminist questioned

the concept of ‘natural order’ or
biological status quo ?

(A) Liberal Feminist

(B) Socialist Feminist

(C) Marxist Feminist

(D) Radical Feminist

17. Write the sequence of important

Women’s Bills in our country.

1.  The Protection from Domestic
Violence Act.

2. The Sarada Act

3.  The Uniform Civil Code

4 The Hindu Code Bill

Codes :
(A) 4,3,2,1 (B) 3,2,4,1
C) 1,2,3,4 (D) 2,3,4,1

18. Assertion (A) : Women and men in

technological profession differ
not in ability but in attitudes
and Socialization.

Reason (R) : Boys and Girls are
socialized to different patterns.

Codes :

(A) (A)istrue, (R) is false.

(B) Both (A) and (R) are true and (R)
is the correct explanation for (A).

(C) Both (A) and (R) are false.

(D) (A) is false, but (R) is true.
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10.

11.

12.

13.

ToraTcaes oY & SR T W& T § 2

(i) I& Tl # 3R ¥ W aRatas
favet gueet ¥ Heaed & g
FATE |

(i) ¥ URaeH 3@ ¢ |

(iii) ;‘e"wad{ AT~k Ui et

|

(iv) ¥& URacH & 329 &g ARl (3
Higah) § grEfud & |

BT

(A) fa (i) 3 (iii)

(B) fa (i), (ii) #R (iv)

(C) & (i), (iii) 3 (iv)

(D) (i), (i), (iii) & (iv)

‘g F H Hieenel w1 qHERH

S AFarEd: TS T ¥ gwEHE @l

AT & 1" T8 TR et € 2

(A) = i (B) &= feren

(C) 3w (D) sW=

WHR R gfeenett & faw FH=fatea
T TRt A WA FIAHER T
H AT

(i) T @IS Afeet ST

(i) IS Aot ST

(iii) TRa Hiecn wrefa qfafd

(iv) g et ifer

(A) (i), (iv), (i), (ii)

(B)  (iii), (i), (ii), (iv)

(C) (i), (iii), (ii), (iv)

(D) (iv), (i), (ii), (iii)

Tiaeel (@Ue) W 9IS T, 3
U ETd I TG B 3T
fHeTar &, o I8 R HecAI & ?

(A) T Hfere

(B) i wiawer

(C) =Harea ufasst

(D) o wfagst

8 YR & 3Ny Tesied o, uRephedmT i
ST =&l it & ?
(A) TS

(C) ==

(B) foarumens
(D) SFATUIHS

14.

15.

16. f&g

17.

18.

Latest Sarkari Jobs, Govt Exam Results,
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(A) %a@w&%%mﬁ%
(B) & T Iafeidar ¥ fFEr ST
T & |
(C) ¥ qorTeHs &7 9 He & |
(D) g‘g TRaR w1 ¥ def-ew g
|

fefeiad SR ARMERT faeme @ 37
Wm%wmﬁﬁww@

e
(b) S

(©) R
(d) T AR

By

AT Sifereh FATATT sl TGN TT FoT
AT ?

(B) THISTETET ARG

(C) HTRIEST ARIEST

(D) U ARER!
Wé’ﬂﬁﬂ%waﬁ@wﬁaanm@
fererrent =1 31

A

B
C
D

C
d
d
d

g
R (R) aﬁaﬁta—sﬁﬁmﬁm
gT yiqaE (Ue) | HHTSiEd
|
N (A, (R s
(A) (A)FFTE, (R) IAEIE |
(B) é@)aﬁT(R)a%fW%aﬁT(R) A)

(C) (A) 3R (R) 3T T & |
(D) (A) WA IR (R)TAT |
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19. Match the List-1 with List-1l as given 22. Write the sequence of legislations for
below : working women
List—1 List— 11 1.  The Maternity Benefit Act
(Five Year (lIssues for Women) 2.  The Equal Remuneration Act.
Plan) 3. The Domestic Workers
(@ The (i) Empowerment (Registration, Social Security
Eighth of Women and Welfare) Act
Plan 4.  Supreme Court order regarding
(b) The (ii) Shift from Sexual Harassment of Women
Ninth “development” to at work place and other
Plan “Empowerment” Institutions
(c) The (iii) Gender equality Codes :
Tenth goals (A) 1,324 B) 1,2,4,3
Plan C 2,341 (D) 3,2,1,4
(d) The (iv) Use of gender 23.  How does religion affect the life of
Eleventh budget and gender women ?
Plan mainstreaming (i) It reinforces the legitimization
Codes Process of the division of labour,
: rivil nd rewar f th
@ O © @ Eocieti/qes and rewards of the
(A) (i) (@) (i) (iv) (ii) It may provide standards of
(B) (iv) (i) (i) (i) values to the society.
(C) (i) (@) (i) (iv) (iii) It is related to the growth and
(D) () (i) (i) (i) maturation of the individual.
i i (iv) It contributes to the stability
20.  Assertion (A) : Men have continued and sometimes destability of
to receive  Social and order.
Institutional support for their Codes :
violent abusive behaVIOl_JI’. (A) (i), (i), (iii), (iv)
Reason (R) : Statutory agencies such (B) (i), (ii), (iii) only
as criminal justice and social (C) (i) and (iv) only
services have been slow to (D) (i) and (iii) only
respond to violence against ] ]
women. 24. Assertion (A) : Social movements
(A) Both (A) and (R) are false. and organizations are the most
(B) Both (A) and (R) are true and powerful agents of social
(R) is not the correct change. o
explanation for (A). Reason (R) Organizations and
(C) Both (A) and (R) are true, (R) is movements do not allow the
the correct explanation for (A). transmission  of information
(D) Both (A) and (R) are false and and material resources across
(R) is the correct explanation generation.
for (A). Codes :
(A) Both (A) and (R) are true, (R)
21.  The collective effort to change power is the correct explanation for (A).
relations at all levels from the (B) Both (A) and (R) are true, (R)
interpersonal to the international is is not the correct explanation
known as for (A).
(A) Imperialism (B) Feminism (C) Both (A) and (R) are false.
(C) Activism (D) Liberalism (D) (A)istrueand (R) is false.
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19.

20.

21.

Al-1 B -1 % A GAred o

Tt - | =t - 1
(Tt (RfEemai & q2)
BIEE))
(@) smedt (i) feems @
BISE HITTRIERIT
(b) e (i) “Forr &
pISC) “ FRTTRTERIOT” T
TRea
(c) ot (iiii) STeT To=aT
T e
(d) ™=Rest (i) STe S S U
BIEEI] 3R SieX 7=
TIEHYOT TITShaT
—

(=N

@ () () (@
(A) () (1) (i) (iv)
(B) (iv) (i) (i) (i)
(€ (i) (1) (@) (iv)
(D) (iv) (i) (i) (i)

AfqHeT (A) : TE B EaTTHR
TS R o ol TS
Td R et ad [Hoerdl
@WE |

FRUT (R) : Ui woigar S T
AYF = 3R QT Yamd
Afecttsti & foeg @ & uid
TTAThaT e | Sielt W& |

(A) (A) 3R (R) 3T 3T & |

(B) (A) 3R (R) 3HI ¥ & R (R),
(A) F T& TR TRl ¢

(C) (A) &R (R) 3Fl &= € 3R (R),
(A) T T AR E |

(D) (A) 3R (R) 3FT 31 € 31X (R),
(A) i Tl AT E |

AR ¥ ST I T W T
T T gl B OuRaed aH %
A&k T e &
(A) THIaR
(C) wfsraamER

(B) -RE®
(D) =NEE

22.

23.

24,
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HITHS Tl o forl AT 1 ST

AT

1. ugi wrghaer sifutem

2. |HM T stafam

3. RG] HHS (USIHOT,  HTHIE
TR 3T FHomT) tfefTam

4, FEWEA AR I TEH H
AfeeTat o I IedieT | gt
Felred AT S

FT

(A) 1,3,2,4  (B) 1,

(C) 23,41 (D) 3

AfgeATatl o STiae &l g7 [d TR wIfera

T & 2

(i) F& o= fourm, faomfysR 3R
TS & WA o iRl ol
e ferd T & |

(i) ¥E IO B Gl & AHEH TGH
THAT & |

(iii) =E =t = Hgfg iR aRudem 9
a1

(iv) I8 TILN & THee a7 Ft-t
ST B FEH R ¢ |

FT

(A) (), (i), (i), (iv)

(B) & (i), (ii), (iii)

(C) fath (i) 2R (iv)

(D) T (ii) 3R (iii)

AfqHT (A) : TEINE R a9
TS QST URedT & Gaites
NIESNIGIRES Al

HRUT (R) : T 31 M=o STHBRT
@ gEEn) 3 fifqe a0
Uigt 3T gt YT Fel e I © |

FT

(A) (A) ¥R (R) 31 I € 3R (R),
(A) = T =T |

(B) (A) 3 (R) 3H ¥ € 3 (R),
(A) = & =T TR E |

(C) (A) 3R (R) 3T 3T & |

(D) (A) T 3T (R) AT |

2,4,3
2,1, 4
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25.

26.

27.

28.

29.

The term “Clientelism’ denotes

(A) The transformation of
grassroots women as mere
beneficiaries of services.

(B) The transformation of women
as active participants.

(C) The transformation of women
as non-beneficiaries of services.

(D) The elimination of women
from the public world.

Match the List-1 and Il :

List—1 List— 11

(@) Human (i) November 25"
Rights Day

(b) White (i) December 1*
Ribbon Day

(c) HIV/AIDS  (iii) December 10"
Day

(d) Population  (iv) July 11"
Day

Codes :
@ O © (@

gA)) (M (@) i)y (iv)

2 W
ED% (ii) giiig (i) Eivg

The recently introduced bill in the

Lok Sabha which intends to provide

for the gender specific needs of

women farmers is known as

(A) Women Farmers Bill 2012

(B) Women Entitlement Bill 2012

(C) Women Farmers Entitlement
Bill 2012

(D) Women Farmers Bill 2011

Among the following terms, which is not
closely associated with violence ?

(A) Battering (B) Adultery
(C) Harassment (D) Abuse

Assertion (A) : The emphasis on
educating women will bring
about widespread social changes
and population stabilization.

Reason (R) : Women’s education
plays a major role in changing
the fertility pattern throughout
the world.

(A) (A)is false and (R) is true.

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true and (R)
Is the correct explanation for (A).

(D) Both (A) and (R) are true, (R) is
not the correct explanation of (A).

Latest Sarkari Jobs, Govt Exam Results,

30.

31.

32.

33.

34.

Which of the following conferences
identified that “Women have a vital
role in Environment Management” ?
(A) Beijing conference

(B) Rio-de Janeiro conference

(C) Cairo-conference

(D) Mexico conference

Expand the correct acronym of

‘DAWN’.

(A) Development Association with
Women for a New
Employment.

(B) Department of Alternatives
with Women for a New Era

(C) Development Alternatives with
Women for a New Era

(D) Development Association with
Women for a New Era

Match the items from List-1 and List-I1.

List—1 List—11
(@) HIV/AIDS (i) Red Blood
cells
(b) Anaemia (i) White Blood
cells

(c) Amniocentesis (iii) Contraceptive

(d) Depo- (iv) Sex Deter-
proveria mination test

Codes :
(@ () () (d)

A (@) @) (i) (iv)

B) () (i) (i) (iv)

(C) (i) (iv) (i) (i)

(D) (i) () (v) (iii)

Among the following Women Chief
Ministers who is currently not
holding the position ?

(A) Mayavati

(B) Mamta Banerji

(C) Shiela Dixit

(D) Jayalalithaa

Among the following feminists who
have advocated that ‘Husband
represents the Bourgeois and wife
represents the Proletariat’.

(A) Karl Marx

(B) Clara Zetkin

(C) Margaret Benston

(D) Friedrich Engels

J-74-13
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(B) et sehaT) feen, 2012
(C) et ha eehardt faee, 2012
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(A) Tamd €9 ¥ ARAT

(B) W&
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‘E

(D) (A) 3R (R) S 7 € 3R (R), (A)
Tl T

AT

30.

31.

32.

33.

34.
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%
(@ (o) () (d)
(A) (1) () (i) (iv)
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(C) (i) (iv) (i) (i)

(D) (i) () (iv) (i)
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35.

36.

37.

Match the list of Books (List-1) and
Authors (List-11)

List—1 List— 11
(Books) (Authors)
(@) Second Sex (i) Mary Daly
(b) Gyn/ (i) Juliet
Ecology Mitchell
(c) Sexual (iii) Simon De
Politics Beauvoir
(d) Women’s (iv) Kate Millet
Estate
Codes :

(@ (b) () (d)

(A) (i) (iv) (i) (i)

(B) (iii) (i) (iv) (i)

(©) Gv) () () (i)

(D) (1) (i) (iii) (iv)

Assertion (A) : Sexual Harassment
(Prevention) cells have been
established in most of the
private and public sector
organisation.

Reason (R) : Working women are
subject to sexual harassment at
work place.

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are true and
(R) is the correct explanation
for (A).

(C) (A)is false and (R) is true.

(D) Both (A) and (R) are false.

Among the following, who is not a

post-modern feminist ?

(A) Juliet Mitchell

(B) Helene Cixaus

(C) Luce Irigaray

(D) Jacques Derrida

38. Assertion (A) : It is very difficult to
define the subject of Women’s
Studies.

Reason (R) : Feminist thoughts and
positions are diversified.

Codes :

(A) (A)iswrong and (R) is correct.

(B) Both (A) and (R) are wrong.

(C) (A) is correct, but (R) is wrong
and (R) is not the correct
explanation of (A).

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

Paper-I1
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39.

40.

41.

42.

43.

Who is called an ‘iron lady’ in the
field of Indian sports ?

(A) P.T.Usha

(B) Karnam Malleswari

(C) Saina Nehwal

(D) Mary Com

Match the prominent women from
(List-1) and their position (List-11).

List—1 List—11
(@) Margaret (i) Chairperson,
Alva National
Commission for
women
(b) Prema (if) Chairperson,
Cariayapa Central Social
Welfare Board
(c) Mamta (iii) Governor of
Sharma Uttarakhand
(d) Krishna  (iv) Minister for
Tirath Women and Child
Development
Codes :
?s':!;) b) (c) (
A) (i i) (i) (v
B) (i) (i) () (v
C) @ i) (i) (v
D) (u i [ v

What are the dimension taken to

measure the Gender Inequality Index

(GIN?

(A) Reproductive Health, Labour
Market, Literacy and Knowledge.

(B) Employment, Gender wage
differentials and Empowerment.

(C) Labour market, Employment
and Political participation.

(D) Reproductive Health,
Empowerment and Labour market.

The concept of Socialization of

‘Domestic Labour’ was introduced by

(A) Margaret Benston

(B) Oakley

(C) Firestone

(D) Nancy Chodorow

Assertion (A) : Feminist perspectives
on environment challenge the

social, cultural and political
sources of power in society.
Reason (R) Sustainable

Development  Challenge the
participation of men in pro-
ecological ways of living.

(A) Both (A) and (R) are true.

(B) (A) istrue, (R) is false.

(C) Both (A) and (R) are true, (R) is
the correct explanation for (A).

(D) Both (A) and (R) are false.

J-74-13
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38.
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@ () ( (@
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ETE

(A) (A) T ¢ 3T (R) TET € |
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(A) Tt TE AT E |

(iv) ¥ freere
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40.

41.

42.

43.
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44,

45.

Match the list of women’s Universities
(List-1) and Location (List-11).

List—1 List— 11
(@) Mother Teresa (i) Rajasthan
Women’s
University
(b) Sri Padmavati (ii) Maharashtra
Women’s
University
(c) S.N.D.T. (ii1) Andhra
Women’s Pradesh
University
(d) Banasthali (iv) Tamil
Vidyapeeth Nadu
Codes :

@ () (¢ (@@

(A) (iv) (i) (i) (i)

(B) (iv) (i) (i) (i)

(C) (v) (i) (i) (i)

(D) (i) (i) (v) (i)

Mark out the correct answer about

Hypothesis :

(i) Hypothesis is a statement,
which is yet to be tested.

(i)  Hypothesis are all positive.

(iii) Hypothesis can be null.

(iv) The sources of hypotheses can
be the existing theories.

Codes :

(A) (), (iii) and (iv) only.

(B) (i), (ii), (iii) and (iv).

(C) (i), (iii) and (iv) only.

(D) (i), (i) and (iii) only.

Read the following paragraph and

answer question numbers 46 to 50.

In proving women’s inferiority,
the anti-feminists began to draw not
only upon religion, philosophy, and
theology, as before, but also upon
science-biology, experimental
psychology, etc. At most they were
willing to grant ‘equality in
difference’ to the other sex. That
profitable ~ formula is most
significant; it is precisely like the
‘equal but separate’ formula of the

Jim Crow laws aimed at the North
American Negroes. As is well

known, this so-called equalitarian
segregation has resulted only in the
most extreme discrimination. The
similarity jut noted is in no way due
to chance, for whether it is a race, a
caste, a class, or a sex that is reduced
to a position of inferiority, the
methods of justification are the same.
The ‘eternal feminine’ corresponds to
‘the black soul’ and to ‘the Jewish
character’. True, the Jewish problem
is on the whole very different from
the other two-to the anti-Semite the
Jew is not so much an inferior as he
is an enemy for whom there is to be
granted no place on earth, for whom
annihilation is the fate desired. But
there are deep similarities between
the situation of women and that of
the Negro. Both are being
emancipated today from a like
paternalism, and the former master
class wishes to keep them in their
place’ — that is, the place chosen for
them. In both cases, the former
masters lavish more or less sincere
eulogies, either on the virtues of ‘the
good Negro’ with his dormant,
childish, merry soul — the submissive
Negro-or on the merits of the woman
who is ‘truly feminine’ — that is,
frivolous, infantile, irresponsible —
the submissive woman. In both cases,
the dominant class bases its argument
on a state of affairs that it has itself
created. As George Bernard Shaw
puts it, in substance, ‘The American
white relegates the black to the rank
of shoeshine boy; and he concludes
from this that the black is good for
nothing but shining shoes.” This
vicious circle is met with in all
analogous circumstances; when an
individual (or a group of individuals)
is kept in a situation of inferiority,
the fact is that he is inferior. But the
significance of the verb to be must be
rightly understood here; it is in bad
faith to give it a static value when it
really has the dynamic Hegelian
sense of ‘to have become. Yes,
women on the whole are today
inferior to men; that is, their situation
affords them fewer possibilities.
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47.

48.

Anti-feminists argued for women’s
inferiority on the basis of

(i)  Philosophy

(i) Caste

(iii) Biology

(iv) Experimental Psychology
Codes :

(A) (i), (i), (iii), (iv)

(B) (i), (iii) and (iv) only

(C) (i), (iii) and (iv) only

(D) (iii) and (iv) only

Mark out the correct answer :

The formula of ‘equality in

difference’ is profitable for

(A) Emancipating all relegated to
the position of inferiority.

(B) Maintaining the status-quo or
even enhancing discrimination
against women.

(C) Solving the issues of Negroes
and Jews.

(D) Minimizing
against women.

discrimination

Assertion (A) : ‘The eternal
feminine’ corresponds to ‘the
black soul’ and to ‘the Jewish
Character’.

Reason (R) There are deep
similarities among the situation
of the Jews, the situation of
woman and that of the Negro.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong
and (R) is not the correct
explanation of (A).

(C) (A) is wrong and (R) is correct
and (R) is the correct
explanation of (A).

(D) Both (A) and (R) are wrong.

49,

50.
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How is the situation of woman and
that of the Negro is similar ?
(1)  Both are biologically inferior.

(i) Both have been liberated from
alike paternalism.

(iii) Both have been slave to their
masters for their
submissiveness.

(iv) Both are responsible for their
state of affairs.

Codes :

(A) (i), (iii) and (iv) only
(B) (i) and (iv) only
(C) (i), (ii), (iii) and (iv)
(D) (ii) and (iii) only

Assertion (A) : Women on the whole
are today inferior to men and
their situation will continue.

Reason (R) : The vicious circle of
inferiority is static and not
dynamic.

Codes :

(A) (A)is correct and (R) is wrong.
(B) (A)iswrong and (R) is correct.
(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).
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